normalized X?

[ normalized x? probability |

chi2 chi2_prob
Entries 2210 Entries
107} Mean 1.152 Mean
Std Dev 0.5165
P 0.06
chiz
_o Entries 2210 ntri 2210
10 Mean 1152 0.05 .| Mean 0.4214
Std Dev 0.5165 .

Std Dev

107

Ratio

I .
09¥0—2"4 6 8 10 12 14 16 18 20 09%970.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
X? Prob(x?)
A 21
T F : : : :
= LB CARREE S P e
\% ]
1.4~ | === pQM_v0001_R000000001__Global__mkFitNewOLD1000time__RECO

1 2-__ === DQM_V0001_R000000001__Global__mkFitOLD-checkDet__RECO

1
0.8F
0.6F
o e
3
x
1
0.5
A A E
2 2 18k
% < 1.6F-
v v E
1.4~
1.2F
E -
1.4~ F
E 0.8
1.2 E
o 0.6
il E
E 0.4F
0.8~ F
o 0.2
0.6~ F
o v o GF
© T
x @
1= 0.5
o 1 1lo 1(l)2 0 10° — 1072 107
&T AR(track, jet?



	Contents
	Page 1


